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D 4.9=+0.7 ® 21+0.3 ® 14.7+21
@7.8 +1.3 ® 126+18
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56+08=56+8=7
D49+07=49+7=7
@21:03=21+3=7
@®14.7+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7
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D 57.96+-9.2 @ 7.44+0.6 3)8.96+-11.2

@ 21.5+2.5 ® 1.82+1.3
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Hol 1 Bof 2o i vhE 7} ol X = - E T Aok iyt
@ 57.96 +9.2 = 6.3

@ 744+0.6 =124

®896+112=0.8

@215+25=286

®182+13=14
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48 %— 0.48

48.8 %— 0.488

whab A 48.8 %> 48 %> 0.408 YL Th.
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HO| B2 E
(HrA]2)x2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08
(9F2] )= 69.08 = 6.28
(S 5)= 11(cm)

2ol gol 1 11 x 11 x 3.14 = 379.94( cm?)
JArZYE o W olZo] & 36.4 +4 = 9.1(cm)
JArZYE 2] o] & 9.1 x 9.1 = 82.81(cm?)
(¥ wol)-(HAAZ 9 Hol)

= 379.94 — 82.81 = 297.13(cm?)
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5+12X2+29+<24x3.14x§)

= 58 + 37.68
= 95.68( cm)




